|

"It's A Better Board'"

BEST-RITE®.

_

////////////////////////////////////////////////////////////
| avout Options

0
Combo-Rite Modular Boards

\

N

A ihihBn_ _ s

Assembly Instructions



Combo-Rite Modular Boards

Part Drawing Description Qty
— Hardware List —
P-1 Writing Board 1 EA
A 1-1/4” Screw 12-28 EA
B L-Bracket 12-20 EA
>
p-2 Side Tackboard 1-2 EA
C é 1/2” Self Drill Screw 14-22 EA
A
D \ Map Rail End (short) 1-2 EA
P-3 Left 4 H-Bar 1EA L
<&
< .
E Map Rail End (long) 1-2 EA
P-4 Right 4 H-Bar 1EA L
\_ J
P-5 Left 5 H-Bar 1EA
(" Should you require assistance )
during assembly, please call our
Customer Service Department
P-6 Right 5'H-Bar 1EA Monday - Friday 8 a.m.-5p.m.
Central Standard Time ]
Toll-Free Customer Service
1-866-886-6935
. J
P-7 Top Tackboard 1EA

T




Combo-Rite Modular Boards

Find your Board Type and check Part and Hardware
List below, see page 2 for more descriptive details.

H H Part List Hardware List
pP-1 1 EA. A 12 EA.
p-7 1 EA. B 12 EA.
C 14 EA.
T.Vpe C D 2 EA.
H ] Part List Hardware List
i i pP-1 1 EA. A 20 EA.
p-2 1 EA. B 16 EA.
- P-6 1 EA. C 18 EA.
TVDe D R p-7 1 EA. D 1 EA.
E 1 EA.
I H Part List Hardware List
P-1 1 EA. A 20 EA.
p-2 1 EA. B 16 EA.
P-5 1 EA. C 18 EA.
Type D'I— P-7 1EA D 1EA
E 1 EA.
| H Part List Hardware List
pP-1 1 EA. A 28 EA.
p-2 2 EA. B 20 EA.
P-5 1 EA. C 22 EA.
TVDe H P-6 1 EA. D 2 EA.
p-7 1 EA.
Part List Hardware List
P-1  1EA A 24 EA.
TM [ !e F P2 2EA. B 16 EA.
P-3 1EA C 18EA
P-4 1 EA. D 2 EA.
Part List Hardware List
P-1 1 EA. A 16 EA.
- p-2 1 EA. B 12 EA.
T.VDe E R P-4 1 EA. C 14 EA.
D 1 EA.
E 1 EA.
Part List Hardware List
P-1  1EA A 16 EA.
T e E_ |_ P2 1EA. 12 EA.
P-3 1EA

B

C 14 EA.
D 1 EA.
E 1 EA.




READ THROUGH INSTRUCTIONS FROM BEGINNING TO END BEFORE STARTING TO ASSEMBLE UNIT.

To Assemble:

1. ldentify and Separate all the Parts and Hardware.

This is a 2 person step.

2. Find the desired location for board on wall. Hold the board on the desired spot while
someone marks the top and bottom of the board on the wall. Make sure marks are able to
be cleaned from wall surface. Remove the board from the wall. Draw leveled line 1/2”
below the top mark line on entire length of your board. Draw another leveled line 1” above
your bottom mark on the wall entire length of the board. These two leveled lines are very
important because you will be using them to fasten L-Brackets (B) to install your board.

See Illustration # 1.
Top mark
R

Illustration # 1 e r 4

3. Use the leveled lines to fasten L-Brackets (B) with 1 1/4” Screw (A) for top L-Brackets
(B) see illustration #2a, and bottom L-Brackets (B) see illustration #2b. These brackets
would be 16” or 24” apart, based on where wall studs are located. Please make sure your
L-Brackets (B) are secure on the wall by going through wall studs. You should be able to
push the bracets up and down if you have to. If you can not locate wall studs you must use
proper screw anchors per type of wall you have. See Illustration # 2, #2a and #2b.

Top mark

See illustration #2a i oy
: Top mark $\— B
F—qj\LeveL Line @ Leveled line

167-24" llustration # 2a

Level Line
. . / . . @\ Leveled line
See illustration #2b : / . / {
Bottom mark
- F1e
Illustration # 2 e
Bottom mark

Illustration # 2b




4. Set the bottom of Writing Board (P-1) on
L-Brackets (B) on the wall, make sure

writing board is on the desired location.
While someone holds this panel tightly
against the wall, setting on the bottom L-
Brackets (B), fasten the L-Brackets (B) to
the bottom of Writing Board (P-1) by
using 1/2” Self Drill Screw (C).

The person holding the panel should Con-
tinue firmly pushing the Writing Board
against the wall. Use ladder to reach
comfortably to the top L-Brackets (B).
Push the top L-Brackets (B) down until
they are flush with top of the Writing
Board (P-1), use 1/2” Self Drill Screws

AL

(C) to fasten the L-Brackets to the top of
the writing board. See illustrations # 3

, Va Top mark I

Leveled line

\— Brackets J

llustration # 4

\
——0
b@/

cNgo

Top M?

i5/8
@ i ~
\— Leveled

line

Illustration # 4b

Illustration # 4a

(a7
If you have Top Tackboard (P-7)
please follow Step 5.

Place the two brackets on the back of the
Top Tackboard (P-7) behind the Writing
Board (P-1), as it shown in illustration # 4.
Tackboard (P-7) should be sitting on the
writing board L-Brackets screw heads. Mark
the top of Tackboard (P-7) on the wall in 3
locations preferably over the wall studs.
Remove the Top Tackboard (P-7) and pro-
ceed with fastening the L-Brackets (B) by
using the 1 1/4” Screw, 5/8” below the mark
you made on the wall (leveled line). See
illustration # 4a for detail. Place the Top
Tackboard back on the wall, make sure you
are flush with the Writing Board (P-1) on
both sides. Push down the L-Brackets (B) to
the top of the Top Tackboard (P-7), and
fasten using 1/2 Self Drill Screws (C). See
illustration #4b.

\

(" Should you require assistance
during assembly, please call our
Customer Service Department
Monday - Friday 8 a.m. -5 p.m.

Central Standard Time )
Toll-Free Customer Service

1-800-749-2258
\. J




Top mark
/— p

6. Place the Side Tackboard against the Writing Board <

making sure the bottom of the two panels are even. -
Mark the top and bottom of the Tackboard on the wall _ I
and remove the board from the wall. Make a level line
5/8” below the top mark and 1 1/8” above the bottom
mark line. Fasten L-Brackets (B) on the leveled line
in two spots where wall studs are. See illustrations #

5, 5a and 5b.

@ L Levelline
Illustration # 5a

@

@

Illustration # 5

1
_ ,tm:,jf

o
Ite

] [ |
\_\/
[llustration # 6a Illustration # 6

8. Measure the H-Bar (P-6) and use the side of Side @
Tackboard (P-2) that matches the H-Bar length. One of _
the four corners on back of the Side Tackboard has a
fastener. DO NOT force that side of the board into the
H-Bar Channel. After placing the correct side of the

Side Tackboard (P-2) into the H-Bar channel fasten your — /

board to the L-Brackets (B) by using 1/2” Self Drill

Screws (C). See illustrations # 7.

of—— ]

o]

/]

@ @ @ lllustration # 7
: , ’ 9. Insertall your map rail accessories. Use
NI

® B

P-6

Illustration # 8a llustration # 8

/— Top mark

| _ .

i 5/8\_ @ / Level line
N—Level line

1 /+

(p2) s
Level line L Bottom mark
A
[ Bottom mark

Illustration # 5b

7. Place the Right 5* H-Bar (P-6) or Left 5* H-Bar

(P-5) or both if you have type H Combo-Rite over
the side of Writing Board (P-1) frame. Make sure
notch on H-Bar falls into the end of the writing
board map rail as the arrow shows in illustration #
6. Match the bottom of Writing Board and the H-
Bar (P-4) for the right and (P-5) for the left and if
you don’t have the Top Tackboard (P-7) your H-Bar
will only be 4’ long using (P-4) for the right and
(P-3) for the left side of your board. Fasten the H-
bar to the wall with three 1-1/4” Screws (A). See
[lustration # 6 and 6a.

3O

Map Rail End (short) (D) if you have H-Bar
(P-6) for right, and or (P-5) for left side,
but if you don’t have H-Bar (P-6) nor (P-5)
use Map Rail End (Long) (E), and fasten
them with 1/2” Self Drill Screws (C). See
illustrations # 8 and 8a.



